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06 April 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS
05:30 PM to 07:30 PM
SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM
RBI ONLINE LIVE CLASS

BILINGUAL

13 April 2022

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

;
BANK ONLINE LIVE CLASS
(English & Bengali) :

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

05:30 PM to 06:30 PM

CCC ONLINE LIVE CLASS
(NIELIT COMPUTER COURSE)

& www.mahendras.org

20 April 2022

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

04:15 PM to 06:15 PM

SSC ONLINE LIVE CLASS
(English & Bengali)

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS
(English & Odia)

BILINGUAL

/ 10:30 AM to 11:30 AM

ENGLISH SPEAKING COURSE 2022
(ENGLISH SPEAKING COURSE)

N 7052477777/7052577777

27 April 2022

07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

A@B means Ais child of B
AS$ Bmeans Ais parent of B ©)
A#B means A is sibling of B =
A % B means A is spouse of B | &
A&B means A is grandparent of B

+A[+B represents the male member of the family — K‘I’
-A/-B represents the female member of the family

<)

If the statements “(+)P@S $Q@(-)T&(-)VU; (-)v#U@(+)R%Q"

We, then how is S related to R?
v Father in law

(b) Mother in law
(c) Father

(d) Mother

(e) Sister
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

A@B means Ais child of B

A$ B means A is parent of B + _ T

A#B means Ais sibling of B e—> 170

A % B means A is spouse of B "'F\

A&B means A is grandparent of B r P 9. 5

+A[+B represents the male member of the family C- o

-A/[-B represents the female member of the family V U
JU— vy

If the statements “(+)P@S $Q@(-)T&(-)VU ; (-)V#U@(+)R%Q" holds true, anWe of
T's age , then how many members are younger than S?

(a) Three

(b) Five
LT Six
(d) Four
(e) None of these
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A@B means
A$Bmeans Ai
A#B means A s si
A% BmeansAiss
A&B means Ais gran
+A[+B represents the male member of the family

-A/-B represents the female member of the family

bzq ek
v/,

Which of the following symbols should replace the sign ($) and
(#) in the given expression in order to make the expressions B 2
G and F > K definitely true?

‘A>BPC2F=G>HFO2K<E<R>T
> < 7= >
> < 7
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/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

(a) If the data in statement | alone are sufficient to answer the question,
while the data in statement Il alone are not sufficient to answer the
question.

(b) If the data in statement Il alone are sufficient to answer the question,
while the data in statement | alone are not sufficient to answer the
question.

(c) If the data either in statement | alone or in statement Il alone are
sufficient to answer the question.

(d) If the data even in both statements | and Il together are not sufficient

to answer the question.
(e) If the data in both statement | and i together are necessary to answer

the question. ey e AR
%‘ a N
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

Five Persons A, B, C, D and E, are going to vacation on five different days
of the same week, starting from Monday to Friday. Who goes on
Thursday?

l. Only two person goes to vacation in between E and C. More than two
person goes to vacation between C and A.

ll. E goes to vacation immediately before D. Only one person goes to
vacation between D and C. A goes before B.

h NO N \éﬁ_c |
DY C’@A m\ﬁ\\x
tha | B |
/{% Cri cﬁﬂﬁf
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

P, Q R, S, Tand U are sitting in a circle, facing towards the centre of the
circle. Who is sitting on the immediate right of Q?

l. P is facing S. Only R is between P and Q. U is between T and P.

Il. U is on the immediate left of T. Only S is between Q and T. R is not

adjacent to U.
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

Six persons A, B, C, D, E and F lives on a six storey building such as ground
floor is numbered as 1 and top floor numbered as 6. How many persons
live between A and C?

.. C lives on an even numbered floor. Only two persons live between F and
C. A lives below F.

Il. Four persons live between B and D. No one lives between B and C. E lives
immediately above F. B lives above D.

6] —| €|¢| tw D Po

5§ - < 1 In < et~
- Al & /

q ‘/)Q ) I Cl&@k

2|1 C

7
o1
| K Y
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

What does ‘Me’ mean in the code language?

A ‘Me Bo Ta’ means ‘Economy Prime Factor’ and ‘Xz Se Me’ means ‘Best
Prime Study’ in that code language.

. ‘LaMe Ta' means ‘Hard Study Group’ and ‘Lz Me Ta’ means ‘Find
Stud;LGtaup in that code language.

O



http://www.mahendras.org/

i FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

How is S related to N?
. S’s husband is the only son of N's mother. N is a female.
Il. S’s brother is husband of N's mother.

Qwﬂa U ~‘-)
v L?Zﬁ’r)/ N S—ﬁ(ﬁ@T/
“N

N
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Statement: Only goed-singers are invited in the conference. No one

without sweet vojge is a good singer.

Conclusionstjﬁéal/invited singers in the conference have sweet voice.
ose singers who do not have sweet voice are not invited in the

conference. Ro He

‘———,

FUT: HFHoIeT H shalol TS I T HTHTI [T ST & | AL TS o T9=1T hig

Y 3T Ik Agl &IaT|
IGATOF

. GFEH H AT G IMThi T 3TdTo HE gl
Il TS¥eT aTT2rent & 3TaTel HYR A& glcl! 306 TFRlT & 3T 8T v Sira)
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

Statement: N\cl>/cenntry is absolutely self-dependent these days.

Conclusions: It is impossible to grow and produce all that a country needs.
lIl. Countrymen in general have become lazyyp/

N\

FY: IS T < 31 AT I TRE A HcATAI AL & |
fassy:

. ﬁ#ﬁé@r@rmﬁs«rﬂd T faspTd 3R 3c4TeeT el FITHT 6 .
. HHT diY 9T Srardl T8I v & |
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

SE ol IRUI, dT, m"@'r, Afaret, 371 3R A= eldT- || Six people Tarun, charu, Visakha, Monika, Anko and Viraj are
31191 Nt & Y1 g0 § 3R IdATT HTUR 2018 & T & fAAT || born in different years with the current base is taken as 2018.
TATR| 3AN A HIS 3ﬁ 90 ﬁ#mmwgl 3¢ None of them is older than 90 years old. They like different

M- Bl U, T, 3FR' =T, 3-]111' WW%I fruits apple, Orange, Grapes, Cherry, Mango, Banana( Note-
siie- o aY cafed &1 Sq ETHT e3TavF ATAT S 37F || The last two digits or reverse of the last two digits of the year
g1 3T &Y 37T T 3eer fhdl 3 —qﬁ-?ra?rma’r in which a person is born can be the age of some other

Hhdr gl (3}'9' A &1 ST=H 1943 H gAHT ¢ 31T B @r&lTlI'A & person. (Like A is born in 1943 and age of B is denoted by the
ST a9 & HTAH & 37! #mﬁ%rs’l?ﬁ%l dd B aﬁramrm last two digits of the birth year of A. Then B’s age will be

dY 34 971 43 g131Y) | THT FT oA aY 1983 :ﬁrgan qr| ?-WUT either 34 or 43). Tarun was born in the year 1983. The

IR T A T FTIHAT 21 I 2| ﬁarrmmwafr? difference of age between Tarun and Charu is 21 years.

31T T W%%ﬁ‘l’#ﬂﬁﬂ Sled 3'31T qT| mmm Visakha age is sum of the digits of the year in which Charu was
qrelT SIfad famr@r ¥ 5 EI"i'E'ST%’I 3t T AT ar srfaA &l || born. The one who likes mango is 5 years elder to Visakha.
HF g AT3T AT & AfAA S IHAT & ﬁﬁ?—l‘% g are Anko age is either the last two digits or reverse of the last two
qUCE et aTel TP &l STH g31T UT| Fddl Ueh ITFd digits of the year in which the person who likes mango was
3! #W%ﬁﬁ'&m Eﬁﬁm%l AN gHE FL&t aTelT || born. Only one person is elder to Anko and Visakha likes
cgTed 3 & b Bler §1 JArer it 3 g e arer & apple. The one likes cherry is just younger to Anko. The
oI &1 3R 24 a9 81 98 FfFa O FaTqH €, $ToleH || difference between Viraj’s and the one who likes cherry is 24
TH a¥ H g3 8| T IHG Flel gTeAT AT, Glell &f gul years. The one who likes banana was born in an even year. The
H IR ﬁ?\' Fal dTel S Tahd § Bl %‘I Mo, AT & one who likes orange is younger to the one who likes grapes

o gl both in odd number of years. Monika is younger than Viraj.
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/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Six people Tarun, charu, Visakha, Monika, Anko and Viraj are
born in different years with the current base is taken as 2018.
None of them is older than 90 years old. They like different
fruits apple, Orange, Grapes, Cherry, Mango, Banana. Note-
The last two digits or reverse of the last two digits of the year
in which a person is born can be the age of some other
person. (Like A is born in 1943 and age of B is denoted by the
last two digits of the birth year of A. Then B’s age will be
either 34 or 43). Tarun was born in the year 1983. The
difference of age between Tarun and Charu is 21 years.
Visakha age is sum of the digits of the year in which Charu was
born. The one who likes mango is 5 years elder to Visakha.
Anko age is either the last two digits or reverse of the last two
digits of the year in which the person who likes mango was
born. Only one person is elder to Anko and Visakha likes
apple. The one likes cherry is just younger to Anko. The
difference between Viraj’s and the one who likes cherry is 24
years. The one who likes banana was born in an even year. The
one who likes orange is younger to the one who likes grapes
both in odd number of years. Monika is younger than Viraj.
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/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Person | Birth Age | Fruit Who among the following likes Banana? (a) Anko (b) Tarun
year (c) Charu (d) Visakha (e) none of these
Viraj 1938 80 Banana

Who among the following is the eldest? (a) Anko (b) Tarun

Anko 1959 59 | Grapes (c) Charu (d) Vishakha (e) none of these

Charu 1962 56 Cherry

Tarun 1983 35 | Orange Which of the following combination is true? (a) Anko-

Monika | 1995 23 [ Mango 1959-mango (b) Viraj- 1983- apple (c) Charu-1962-cherry
(d) Monika-1995- grapes (e) none of these

Vishakha | 2000 18 Apple

Which of the following statement is correct? (a) Anko is
three years older than the one who likes cherry (b) Viraj is
the eldest (c) Anko born in 1959 (d) Monika is born before
Visakha (e) All are correct

In which of the following year Monika was born? (a) 1995
(b) 2000 (c) 2012 (d) 2007 (e) None of these
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

ford few 1w sraer A ey Aforer & S #AfSrer 2
AT 1 A IR IR AT I AT 2T FW
g1 SART # Y& #Afore 7 &) Fele & S Fele
U ol @Y & 9R9HA A 81 ARG A TAS Fele
576 I T 8TH ¢ I TAF Flc HF
ARTgsemdsm sk A N red
AT &ITH FAY AT & | GH TE&IT Il W
Tdh FolT & TcAF HAY FT &Th T 64 FIE T
Nt AT W FaT FAY A1 81 O Fele &
72 BT AT6d F HAYE, 98 AT TEqT areh
AT X | Fole & IAF FAL FT ATH o)
9 FAI & FolcF e AT &, 288 e gl FF
TFoT F TS FAL FT AT 192 Pe g 3R
ST FolTe & FAY FT1 890 72 FiT g, 3TF
e had U AT g1 IRGH H FS Fele AT
e Fole H 6 FATEI

There are three floors in a given building such
that floor 2 is above floor 1 and floor 3 is above
floor 2. In the building there are two flats in each
floor such Flat A is in the west of Flat B. In the
building each Flat has an area of 576 ft and each
flat has some certain number of room and no two
flat has same number of rooms. The area of each
rooms of one of the flat on the even number floor
is 64ft. Total rooms on floor number third is
seven. The flat which has rooms of area of 72 ft is
on odd number floor. Area of each rooms in the
flat which is exactly below 9 rooms flat is 288 ft.
There is only one floor between the flat who's
each room area is 192 ft and the flat whose
rooms area is 72 ft. There is no flat on the west of
the flat having 6 roomes.
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There are three floors in a given building such
that floor 2 is above floor 1 and floor 3 is above
floor 2. In the building there are two flats in each
floor such Flat A is in the west of Flat B. In the
building each Flat has an area of 576 ft and each
flat has some certain number of room and no two
flat has same number of rooms. The area of each
rooms of one of the flat on the even number floor
is 64ft. Total rooms on floor number third is
seven. The flat which has rooms of area of 72 ft is
on odd number floor. Area of each rooms in the
flat which is exactly below 9 rooms flat is 288 ft.
There is only one floor between the flat who's
each room area is 192 ft and the flat whose
rooms area is 72 ft. There is no flat on the west of
the flat having 6 roomes.
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/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Floor

What is the area of a room in Flat A on floor 2? (a) 94 (b) 92 (c)
96 (d) either (a) or (c) (e) None of these

What is the total number of rooms on floor 2nd? (a) 12 (b) 14 (c)
13 (d) 15 (e) None of these

Flat A Flat B
3 3 4
Rooms | Rooms
2 6 9
Rooms | Rooms
1 8 2
Rooms | Rooms

Which of the following statement is true? (a) Total number of
rooms on floor 2 is 14 (b) Area of each room is 94 ft of flat A on
floor 1 (c) Total rooms in Flat A of all three floors is 17. (d) All are
correct (e) None is correct

What is the area of room of flat B on floor 3rd? (a) 144 ft (b)
140.5 (c) 138.5 (d) 142 (e) None of these

How many rooms are there of the west of the flat whose each
room area is 288 ft? (a) 6 (b) 4 (c) 3 (d) 8 (e) None of these
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AT AT FT STeATET AT I AIN-3TSTT AT HT AT
STIT-37lT A 9T 81T 8 | FATa BIadl AT 3rser
HS ST S[ATS | G FT STedAfeeT 11 HT 81 G AT CH
SeATeT A aE F AT FT3IATs T BIFEF
STedATeeT & die &7 R 9 feaT A 31w AfheT 13 =T
A FHA FT 8| A FT oA FH J HA &1 arel Al
# &1 B T SAATe 30 =T arer A & 3T R C FT
STeHTesT G & dIh d1C dTel AgI A ¢ ofthet 30 fet
gTel Al A &1 F FT AcHIET C & A-H G & d1¢
ford) v A A 3TaT 81 9% I TFd for T FeAfeT
FH U FH T aTe A A §, 3HHT STeHCT 26 Y
g1 C 3R A & FeAfeaAT Y Il & 31T 10 ¥ FH T81
g ForeT SeAfesT ST # § 3HeT SIeAfesT 30 aiie
FIE AN IR & TF AeARA $ qE| F HT AARA TH
Y 71 ¥ a8 afea forasT oA A% Ad § &,
3YFT AT 39 dHIE U Igo RyTr afig #1 &
forg I F1 B &1 AT 81 B I E H FoAfeT &
oI T 31a] 36 fEaT @ 3+ AfFaT 39 AT A FA T
D 31X A & SeaATesT Y @ & €T FT AT TEr g A
A 3R E & FAfesT 1 adr@) & g #1371 B

Seven persons have their birthday on seven different dates of
seven different months viz. January, February, March, April,
May, June, July. G has birthday on 11. Difference between the
dates of birthdays of G and C is 8. The difference between the
birthdays of B and F is of more than 9 days but less than 13
days. A’s birthday is in the month having least number of
days. B’s birthday is in a month having 30days. C’s birthday is
in a month immediately after G but in a month having 30
days. F’s birthday is in one of the month after C’s birthday.
The one whose birthday is in a month having least number of
days has birthday on 26. Difference between the dates of the
birthdays of C and A is not less than 10. The one whose
birthday is in June has birthday on a date which is
immediately after A’s birthday. F’s birthday is on an even date.
The one whose birthday is in May month has birthday on an
odd date before the date on which B’s has birthday. The
difference between the birthdays of B and E is more than 36
days but less than 39 days. The difference between the dates
of the birthdays of D and A is same as the difference between
the dates of the birthdays of A and E.



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

- Seven persons have their birthday on seven different dates of

m ~) seven different months viz. January, February, March, April,
P Pf May, June, July. G has birthday on 11. Difference between the
tb = 2—@ 26 dates of birthdays of G and C is 8. The difference between the

- birthdays of B and F is of more than 9 days but less than 13
CZ_ ’ } days. A’s birthday is in the month having least number of
days. B’s birthday is in a month having 30days. C’s birthday is

\ T 3 | in a month immediately after G but in a month having 30

days. F’s birthday is in one of the month after C’s birthday.
>< E%' The one whose birthday is in a month having least number of
15 \ B <@~ — days has birthday on 26. Difference between the dates of the

birthdays of C and A is not less tha@The one whose

birthday is in June has birthday on a date which is

@8 @ /@ immediately after A’s birthday% birthday is on an even date.

J The one whose birthday is in May month has birthday on an
1 dd date before the date on which B’s has birthdathe

3‘1 -1 E l37 P V ‘7 difference between the birthdays of B and E is more than 36
B | P\_) elee days but less than 39 days. The difference between the dates
C = 3) 38 @ = of the birthdays of D and A is same as the difference between

the dates of the birthd f AandE.
fb"‘lq T—A‘é e dates of the birthdays of A an
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January D 31 C has birthday in whic the following month? (a) March (b)
May (c) January (\d) pril (e) none of these
—February A 26 v
“March G 11 /7
E has birthday on which of the following date?,(3)21 (b) 19 (c) 20
1 April C 3 (d) 25 (e) none of these
—+May E 21
June B 27 How many months gap is there between the birthday months of
D and E? (a) Two (b) One (c) None (d) Three\(;,)’f\/lore than three
July F 8 -
/

F has birthday on which of the following date? (a) 11 (b) 8 (c) 9
(d) 27 (e) none of these

/
How many persons have born before C? (?)/Yﬁree (b) One (c)
None (d) Two (e) More than three
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- Input- 65 18 41 53 72 34 89 26
~Step1- 195 36 123 159 144 267
VvV YV V \/ \/ \/

Step2- 159 159 36 303 76 335 215

\Step3 45 45 18 0 42 45 10
T-Stepd- 225 225 9 0 21 225 5

“xlnput: 25 22 93 56 17 74 39
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Input- 25 22 93 56 17 74 39 . What is the sum of the numbers at both the ends in step
Stepl- 75 44 279 112 148 117 | |ll of the given arrangement? (a) 36 (b) 63 (c) 60 (d) 123 (e)

\/ \/ \/\/ \/ \/ None of the above

Step2- 31 323 167 163 97 265
Step3- 3 18 42 18 63 60 Which element is 2nd to the right of the one which is 4th
Step4- 15 9 21 9 315 30 | tothe left elementinstep I? (a) 112 (b) 44 (c) 148 (d) 75
(e) None of these

What is the products of the numbers which is 3rd from the
right end and 3rd from the left end in final step of the
given arrangement? (a) 189 (b) 72 (c) 13.5 (d) 180 (e) No
such step
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56. Ans.(c)
Sol. The argument is leading up to call for some sort of international agency to control pollution,
which, as the author claims, is an international problem. Thus (c) is the best response.

57. Ans.(a)

Sol. The author cite one example of international pollution, so another example would help
strengthen his claim. (a) provides such an example.

58. Ans.(c)

Sol. I1I is implicit. Note that the statement is a piece of news. What the journalist assumes about the
conversion and its impact can't be explicitly said. But the words “despite strong opposition” indicate
that the journalist must be assuming IIl. I also follows as it is given that despite strong opposition,

the controversial prohibition of forcible conversion of regional bill was passed by Tamil Nadu
assembly.

59. Ans.(b)

Sol. A person takes 130 minutes to reach office from his home which means takes 2hr10min and he
started at co® which means at 7:15. So, he reaches office at 9:25 but on the way to his office he met
his friend and reached office 35 minutes late so, he reaches office at 10:00 i.e. cof.
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$9. Ans.(b)

Sol. A person takes 130 minutes to reach office from his home which means takes Zhr10min and he
started at a® which means at 7:15. So, he reaches office at 9:25 but on the way to his office he met
his friend and reached office 35 minutes late so, he reaches office at 10:00 i.e. cof3.

510. Ans.(e)

Sol. A train leaves from Pune station to Mumbai at ®® which means at 3:15. Usually it takes uf to
reach Mumbai which means it takes 5 hours to reach Mumbai. So, the time it reaches to Mumbai is
8:15 i.e. but it halts at some station for 1hour 45 minutes. So, at 10:00 i.e. cof it reaches to Mumbai.

511. Ans.(a)

Sol. Abha and Sabha plans to go for shopping at ©® i.e. 8:15 and returned at their home after
shopping at ©® i.e. 8:15. So 12:00 hours they spend in shopping if they go for shopping in the
morning and returned at home in evening.

S12. Ans.(d)
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S13. Ans.(a)
Sol.
(+)S=—=T(-)
(+P) (-)Q=——=R(+)
(-)V—U(-)
S14. Ans.(c)
Sol.
2x (+)S_T(') E
(+P) (-)Q==R(+)

(IV—U(")
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S6. Ans.(e)

Sol. By combining both the statement we can find B goes on Thursday.

Days Person

Monday A

Tuesday

Wednesday

Thursday

Ol O] m

Friday

S7. Ans.(b)

S14. Ans. (e)
Sol. The statement asserts that a good singer always has a sweet voice and only good singers

are invited in the conference. This implies that all those invited in the conference have sweet
voice and those who do not have sweet voice are not invited. So, both I and II follow.

S15. Ans. (a)
Sol. Clearly, only I provides a suitable explanation to the given statement. So, only [ follows.

Sol. By statement II we can find R sits immediate right of Q.

R
P

S8. Ans.(d)

Sol. Both statements are insufficient to give answer.

S9. Ans.(a)

Sol. By using first statement we can find code of '‘Prime’ is ‘Me'.

S10. Ans.(a)

Sol. By using first statement we can find S is sister-in-law of N.
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Sol. In this input output question only numbers is arranged in each step. Let us
understand the logic behind it- In each step the numbers are arranged

In step 1: all the even number (input) are multiplied with 2 and all the even numbers
are multiplied with 3.

Step 2:Is given in the pattern as firstly the numbers are subtracted and then added
respectively.

Step 3: The resultant of the multiplication of its digits in the previous step.

Step4: The numbers in the previous step is divided by 2.

Input- 25 22 93 56 17 74 39
Stepl- 75 44 279 112 51 148 117
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Step2- 31 323 167 163 97 265

Step3- 3 18 42 18 63 60
Step4- 15 9 21 9 315 30
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